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If you get a solution for -x, you can multiply(or divide) both sides by -1 to get the solution for x

Examples: =\..... eoce o

x=9 00092238 ° x=67
x=-9 m’ X =26 X =-67
—lx = 9
< -\ <
X =-9

How to model??? (take it to the other side by adding then isolate again)
2x=6 =133
(-2 2

o\ — |-

-3

= .; O=3+x

January 11, 2023

10



gr 8 u6 eq day 2 solv w models.notebook January 11, 2023

— o N m
“T Model and solve ) +
\f/
.‘l Example Use algebra solve
-10 = - 2X
Goococo | ) =10 =-2x

}.o'l '/.'1‘

00000 | /™
f E = X
l °OOO°‘= -x=-5 —

x=2




gr 8 u6 eq day 2 solv w models.notebook January 11, 2023

<o~
#8’#9 #10’#@1cﬁdfm4

ﬂ‘ 9tbea &t \&'7

12



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

